

$\lim_{(x,y) \rightarrow (0,0)} \sin(1/x) \cos y$ **NEJÁ LIMI,TA**
 need limit 1
 $\lim_{(x,y) \rightarrow (0,0)} \sin(1/x) \cdot y = 0$
 $| \sin(1/x) \cdot y | \leq 1 \cdot \varepsilon$
 $\varepsilon \in (0,1)$
 $\lim_{(x,y) \rightarrow (0,0)} \sin \frac{1}{x+y}$
 $\lim_{r \rightarrow 0} \sin(\frac{1}{r}) \cdot r$

9 27-15:58

f
 $(f, \gamma) = v$
 $\frac{d}{dt} f(x+t\xi, y+t\eta) = d_v f(x, y)$
 with $v = (1, 0) \Rightarrow \frac{\partial f}{\partial x}(x, y) = \frac{d}{dt} f(x+t, y)$

9 27-16:10

$z = g(x, y)$
 $\frac{\partial g}{\partial x}(0,0) = 0$
 $\frac{\partial g}{\partial y}(0,0) = 0$
 $d_v g(0,0) \text{ max.}$
 $f(x, y) = \begin{cases} x & y=0 \\ y & x=0 \\ 0 & \text{else} \end{cases}$
 $\frac{\partial f}{\partial x}(0,0) = 1$ $\frac{\partial f}{\partial y}(0,0) = 1$ $d_v f(0,0) = 0$ else

9 27-16:17

$\xi: [0, 2\pi] \rightarrow \mathbb{R}^2$
 $x = r \cos \varphi$ $y = r \sin \varphi$ $f(r, \varphi) = r \cdot \xi(\varphi)$
 $z = h(x, y)$
 $d_v h \equiv 0$ ($v \in (0,0)$)
 $h(x, y) = \begin{cases} x & \text{if } y = x^2 \\ 0 & \text{if } y \neq x^2 \end{cases}$

9 27-16:23

$d_v f(x) = \xi_1 \frac{\partial f}{\partial x_1}(x) + \dots + \xi_n \frac{\partial f}{\partial x_n}(x)$
 $v = (\xi_1, \dots, \xi_n)$
 $\alpha = (\alpha_1, \dots, \alpha_n)$ $v = \begin{pmatrix} \xi_1 \\ \vdots \\ \xi_n \end{pmatrix}$
 $\alpha(v) = (\alpha_1 \ \alpha_2) \begin{pmatrix} \xi_1 \\ \vdots \\ \xi_n \end{pmatrix}$
 dx_1, \dots, dx_n

9 27-16:31

$f(x, y)$ f_x f_y $v_j(t)$
 $c(t): \mathbb{R} \rightarrow \mathbb{R}^2$ $c(t) = (x(t), y(t))$
 $F(t) = f \circ c(t)$ $\frac{d}{dt} F(t) = \frac{d}{dt} f(x(t), y(t))$
 $= f_x(x(t), y(t)) \cdot x'(t) + f_y(x(t), y(t)) \cdot y'(t)$
 $\frac{d}{dt} (f(x(t), y(t)) - f(x_0, y_0)) =$
 $\frac{d}{dt} (f(x(t), y(t)) - f(x_0, y_0)) + \frac{d}{dt} (f(x_0, y_0) - f(x_0, y_0))$
 $\text{for } t_i: (x(t) - x_0) \cdot \frac{\partial f}{\partial x}(x_0, y_0) + (y(t) - y_0) \frac{\partial f}{\partial y}(x_0, y_0)$
 $\Rightarrow x'(t_0) \cdot f_x(x_0, y_0) + y'(t_0) \cdot f_y(x_0, y_0)$

9 27-16:36

$f(x) = y$

$f(x) = f(x_0) + f'(x_0)(x - x_0)$
 $y =$

$f(x, y) = x^2 y^3$

$f_x = 2xy^3$
 $f_{xy} = 2x^2 y^2 = 6xy^2$
 $f_y = 3x^2 y^2$
 $f_{yx} = 6xy^2$

9 27-16:48

$f(x, y) \quad f_{xy} = f_{yx}$

$f(t) = a_0 + a_1 t + a_2 t^2 + \dots$
 $f(0) = a_0$
 $f'(0) = a_1 \quad (+ a_2 \cdot 2 \cdot 0 + a_3 \cdot 3 \cdot 0^2 + \dots)$
 $f''(0) = 2a_2$
 $f^{(k)}(0) = k! a_k$

$f(t) = f(t_0) + f'(t_0)(t - t_0) + \frac{1}{2!} f''(t_0)(t - t_0)^2 + \dots + \frac{1}{k!} f^{(k)}(t_0)(t - t_0)^k + \dots$

linear / priblizni

9 27-17:10

lineárna funkcia: $\alpha: V \rightarrow \mathbb{K}$
 $\alpha(c_1 v_1 + \dots + c_n v_n) = c_1 \alpha(v_1) + \dots + c_n \alpha(v_n)$
 $(\alpha(e_1) \dots \alpha(e_n)) \cdot (x_1 \dots x_n)^T$

bilineárna funkcia: $\beta: V \times V \rightarrow \mathbb{K}$
 $\beta(v, -) = \beta(-, v)$ pre každú $v \in V$
 $v = \begin{pmatrix} v_1 \\ \vdots \\ v_n \end{pmatrix}, w = \begin{pmatrix} w_1 \\ \vdots \\ w_n \end{pmatrix} \in V$ $g(w) = \beta(v, w)$
 KURVATÍ DOK F.

$\beta(v, w) = \sum_{i,j=1}^n a_{ij} x_i y_j = (x_1 \dots x_n) A \begin{pmatrix} y_1 \\ \vdots \\ y_n \end{pmatrix}$
 $A = \frac{1}{2}(A + A^T) + \frac{1}{2}(A - A^T)$ $\beta(e_i, e_j)$

9 27-17:17

$f(x, y)$

$Hf(x, y) = \begin{pmatrix} f_{xx} & f_{xy} \\ f_{yx} & f_{yy} \end{pmatrix}$

symetrická!

$Df(x)(w) = d_x f(x) \quad w = (s_1, \dots, s_n)$

$D^2 f(x)(w) = Hf(x)(w) \quad w^T \cdot Hf \cdot w$
 $= \sum_{i,j} \frac{\partial^2 f}{\partial x_i \partial x_j} s_i s_j \quad D^2 f(x)(w)$

9 27-17:25

$f: \mathbb{R}^n \rightarrow \mathbb{R}$

$f(x+w) = f(x) + Df(x)(w) + \frac{1}{2} Hf(x)(w, w)$
 $\alpha = \beta(w, w)$

$\beta(x, y) = \begin{pmatrix} x^2 + y^2 \\ x^2 - y^2 \\ -x^2 - y^2 \end{pmatrix}$

9 27-17:43